MIAM I-DADE' MIAMI-DADE COUNTY, FLORIDA
| METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Hurst Awning Co., Inc.
6865 N.W. 36™ Ave.
Miami, FL. 33147

Scopg:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Aluminum Bahama Sun Shade (This is NOT a Shutter)

APPROVAL DOCUMENT: Drawing No. 03-206, titled *“‘Shade Bahama™, sheets 1 through 3 of 3, prepared by
Knezevich & Associates, Inc., dated October 12, 2003, last revision #1 dated March 04, 2004, signed and sealed
by V.J. Knezevich, P.E., bearing the Miami-Dade County Product Control Approval stamp with the Notice of
Acceptance number and approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: NONE

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1, evidence submitted page(s) as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E.

HJ? /4 M\-/ NOA No 03-1030.03

Expiration Date: 04/01/2009

Approval Date: 04/01/2004
04/0,/04' Page 1




15:13

03/15/04

\\hurricane\ka\CADD\Cadd03\HurstAwningCo\03—206\R1—resub\03—206—01.dwg MCantu 03/15/2004 03:13:33pm

Print Information:

-

A

10.

1.
12,

13.

14,

L

, 70" MAX. (TYP.)

GENERAL NOTES: 1.105" 1.105" 062" 4865"
THESE APPROVAL DOCUMENTS REPRESENT A SHADE BAHAMA SYSTE LYZED 05 #i»[ T—sﬂT e N
WITH THE PROVISION SET FOR THE ISSUANCE OF A NOTICE OF ACCEP (NOA) ., 5054 R >
BY MIAMI-DADE COUNTY PRODUCT CONTROL DIVISION FOR THE HIGH ocITY 1.843 9 0 9 6 500" >,
HURRICANE ZONE (HVHZ) AND THE NON-HVHZ OF THE FLORIDA BUILDING CODE. 1219 = 125+ 1
L2 13120 3 . - R
AN ALLOWABLE LOAD INCREASE HAS NOT BEEN USED IN THE DESIGN OF THE .325¢ ‘ 2.0607 [ 050 ).040] . A , 0.056
SPACINGS OF THE ANCHORS IN THIS APPROVAL . S i 9o O 050”2 o 488 g
= < =4 < ' o 1
DETERMINE THE POSITIVE AND NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING 554 (i S ~ 4 o : 500 4
THESE DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING [" e - R 2187" ~
WIND VELOCITY. FOR WIND LOAD CALCULATIONS IN ACCORDANCE WITH ASCE 7-98, :
A DIRECTIONALITY FACTOR OF Kd = 0.85 MAY BE USED. 0504 ooc 1 0055
B ATERR A DRSS RGBSR BRI (SRS mroRmATION ¢ ' -
R ' @ TOP & BOTTOM RAIL @) JAMB CENTER MULLION LOUVER SLAT LOUVER STRIP
THESE APPROVAL DOCUMENTS ARE TO COMPLY WITH CHAPTER 61G15-23 OF THE SCALE : HALF SIZE SCALE : HALF SIZE SCALE : HALF SIZE SCALE : HALF SIZE SCALE : HALF SIZE
FLORIDA ADMINISTRATIVE CODE. 5200
THESE APPROVAL DOCUMENTS, ARE SUITABLE TO BE APPLIED BY THE CONTRACTOR .859"® 3.000" 156" R
PROVIDED THE CONTRACTOR DOES NOT DEVIATE FROM THE CONDITIONS DETAILED . 2.250" HOLES FOR WOOD “e 426"
HEREIN AND THE CONTRACTOR VERIFIES THAT THE EXISTING STRUCTURE DOES 113" . ) 375 = LAG SCREWS (2 f
NOT DEVIATE IN EITHER FORM OR MATERIAL FROM THE STRUCTURAL SUBSTRATES TYP. 195" @
DETAILED HEREIN. } - ONLY) 195" —%
ASTM A53 TYPE S GRADE B 1.291 O e o/l I &% 2
ANY MODIFICATIONS OR ADDITIONS TO THESE APPROVAL DOCUMENTS WILL VOID 1/2" ¢ STD (SCHED. 40) \Z : " - <
THE APPROVAL DOCUMENTS. H-125 .
: " 1.128"
WHEN THE SITE CONDITIONS DEVIATE FROM THESE APPROVAL DOCUMENTS, THE —g%'ﬂ'—g% S .- /-25 ® STUD
BUILDING OFFICIAL MAY ELECT ONE OF THE FOLLOWING OPTIONS: ~ S . sl g MALE HINGE
A) REQUIRE THAT SITE SPECIFIC DOCUMENTS BE PREPARED, SIGNED, DATED AND 440" m o o N O i SCALE : HALF SIZE
SEALED BY A LICENSED ENGINEER OR REGISTERED ARCHITECT, WHICH DETAIL J oMo 3
AND JUSTIFY THE DEVIATION. ‘ .250" —.050" ® 37579
B) REQUIRE THAT A ONE-TIME SITE SPECIFIC APPROVAL BE APPLIED FOR AND .250" (-$$5F', | N ’Ef‘ 581" R
SECURED FROM THE MIAMI-DADE COUNTY PRODUCT CONTROL DIVISION o ﬂi | { ' | ') A O N o 336" B,
WHEN THE SITE CONDITION DEVIATIONS OCCUR WITHIN THE HIGH VELOCITY HURRICANE . 880" :25"® HOLE e 3 \> .,
ZONE AREAS ONLY OPTION “"B" SHALL BE ACCEPTED BY THE BUILDING OFFICIAL. 070"~ 375n (TYP.) 028" ('?Y?:.) 518
THIS SHADE BAHAMA SYSTEM HAS A MAXIMUM PERFORMANCE RATING OF: MATERIAL: ZAMAC 3 ALLOY TYP. -4—”75"
CLOSED POSITION & OPEN POSITION: WASHERED WING NUT TIE DOWN 0 TIE DOWN PLATE . FEMALE HINGE
POSITIVE DESIGN LOAD +62.4 P.S.F. SCALE : HALF SIZE SCALE : HALF SIZE SCALE : HALF SIZE SCALE : HALF SIZE
NEGATIVE DESIGN LOAD -72.8 P.S.F,
080" 3270 TYP 14"
PRODUCT MARKINGS SHALL BE A MIN. OF ONE PER SHADE BAHAMA AND SHALL BE TYP. T : " ﬂ"wp,
LABELED AS FOLLOWS: NS e ®.739 ‘
HURST AWNING CO., INC. | D/ . 1 s
MIAMI, FLORIDA ) 1 ( |~ ®.270" 1 S
MIAMI-DADE COUNTY PRODUCT APPROVAL ®.270 ®.270 o
ALL EXTRUSIONS SHALL BE 6063-T6 ALUMINUM ALLOY, U.O.N 1 8 O/ | in 050" MIN.
ALL SCREWS, BOLTS AND WASHERS TO BE 2024-T4 ALUMINUM ALLOY, STAINLESS {4 ° 1, 054" MAX. 1.000" |,
e LhRELERR DR YR S0 K UGN XL TN Al P
THIS SHADE BAHAMA SHALL BE PROVIDED WITH A PERMANE;\JT LABEL STATING : ] M—“ME— TUBE INSERT
THAT THE SHADE BAHAMA IS NOT DESIGNED TO PROVIDE IMPACT RESISTANCE AND L — SCALE : HALF SIZE SCALE : HALF SIZE
THAT THE SYSTEM IS NOT APPROVED NOR DESIGNED AS A SHUTTER. THIS SHADE ®.873" -
BAHAMA MAY BE LEFT IN THE OPEN OR CLOSED POSITION DURING A HURRICANE. 1.240" 250" $
500" ¢ 500" #—-.500" 500" A 4 ' Q
THIS BAHAMA SHADE SHALL NOT BE INSTALLED ON ANY OPENING WITH POSITIVE | ~
AND/OR NEGATIVE DESIGN PRESSURES TAHT EXCEED +62.4 P.S.F. / -72.8 P.S.F. 052" MIN ~
THE CALCULATED POSITIVE AND NEGATIVE PRESSURES ON EACH OPENING SHALL 1.220" 1.188" 1.960" Aol ; L 2.500" [,
SO TR SRR B SRR dEAT B LA sy T MIRRICANE A
B ‘ L CAMEL BACK HINGE XL CAMEL BACK HINGE ALUMINUM PIPE . L-PIN
SCALE : HALF SIZE SCALE : HALF SIZE SCALE : HALF SIZE SCALE : HALF SIZE
UNLIMITED UNLIMITED
(ADD VERTICAL CENTER MULLIONS (3) AS REQUIRED (ADD VERT:CAL CENTER MULLIONS (3) AS REQUIRED) Agpproved as eompiyiag with the
' ’ ' ida Bujding Cot
16.80" |, 15.80" |, (10) 16.80" |, 15.80" (10) @ UNIT 1 |, UNIT 2 f;:;;d“g“‘ g 1 o0
Typ. T TvP 1 Tvyp. 1 TYP. 1 NOAB O3 — )
: i — n : : ———— z . : Minmi Dade Product Centrol
— : : - ' - Divkion) |
I i ;.: 1 1
| | £ | |
X
; ’ —=DETAILF, DETAIL G, 5 | | DETAILE ——DETAILF; /~ DETALLG,
| | O 17 ] ZI17¢ TYP.EACH ~ | | . i sl A 17 ) ZIT(  TYP. EACH
— .5 : } SIDE = o —— a + : 7 f SIDE
| 1
Y

d

TYPICAL ELEVATION (SINGLE UNIT)

SCALE : 1/2" =1'-0"

\‘@&@\@DT’LR \:®&® @&@/JE;E: PAGE 2 FOR OPTIONS—/ \@&@ T

OF HOW TO CLOSE SHADE
BAHAMA

P.

No o

TYPICAL ELEVATION (MULTIPLE UNITS)

@@

SCALE : /2" = 1-0"

| K

tes, Inc
Website: www.Knezevich.com * E-mail: KA@Knezevich.com
Copyright © 2004 Knezevich & Associates, Inc.

= COA #3205

1a

Product Testing

330 N. Andrews Ave., Suite 450« Ft. Lauderdale, FL 33301

Tel. (954) 522-3690 « Fax (954) 522-3691

Consulting Engineers

Knezevich & Assoc

Miami, Florida 33147
Phone: (305) 635-0900
Toll Free: (800) 327-0905

o

&

2
<
g
°
A
Z
"
o
)
©

<
2
<
I
q
(14}
L
Q
<
I
2

£z
=
=
=
£
[-»]
£
o
<=
3
[
]
&
@
wn
<2
Q
3
£
5
=
b
:
5
£
=
E
£

AWNING COMPANY, INC.
“QUALITY SERVICE SINCE 1957"

|

Fax: (305) 634-9078

ich
Engfneer
0010983

V.J. Kne
Profess
FL LicensggNo.:

AR (04 2004

rig

ol

description
COUNTY COMMENTS

revisions

noi date |by
1 03704704V K|

L
da

scale ]{drawn by

AS NOTED MCR

“"* 10/12/2003)
[

)

VJK VJK

[design byq[:hecked by

drawing no.

03-206

[ sheet 1 of 3

|
)




15:13

03/15/04

\\hurricone\ko\CADD\CoddOS\HurstAwningCo\OS—206\R1—resub\03—206—02.dwg MCantu 03/15/2004 03:13:53pm

Print information:

RE: ANCHOR SCHEDULE 1 BELOW

_ , 2"x2"%.05" OR 1"x2"x.05" CONT. _
RE: ANCHOR SCHEDULE 1 BELOW ALUMINUM TUBE m
- RE: ANCHOR SCHEDULE 1 BELOW : :
Y] i OV i ‘ A i .
'_ " &Y i 3 ek - .
0 b OU2lgnElE
SEN =3 8 =EEES
: %"® POP RIVETS OR #10 x 3" SCREW w ‘ | Solzxgle
LR WITH 10-24 THREADED JACKNUT @ 6" K 3 TR I
] B 0.C. FRONT & BACK, TYP, N\, ¥ #'® POP RIVETS OR #10 x 3” SCREW [ fail Vl59E|3
ﬂ : WITH 10-24 THREADED JACKNUT @ 6" ¥ £"® POP RIVETS OR #10 x 3 SCREW "5 zlsce|<d
e O 0.C. FRONT & BACK, TYP. WITH 10-24 THREADED JACKNUT @ 6" el © ggi &
[ ® 0.C. FRONT & BACK, TYP. S E
AR 1“%2"x.093" Y Ans < %’gg :5)
\‘5 T 7 CONT. ALUM. - A= HEFY:
a ANGLE | - I = A%l
N ] 1L/ %"® POP RIVETS OR #10 x 3" SCREW = I FEFY S
EXISTING—/ 0 - WITH 10-24 THREADED JACKNUT @ 6" L = SHERLIS
i 0.C. FRONT ONLY e LT / #"® POP RIVETS OR #10 x 3" SCREW o 1"x2"x.093" CONT. ‘SoliNilo
STRUCTURE . : N WITH 10-24 THREADED JACKNUT @ 6" s MM ALUM. ANGLE / %"® POP RIVETS OR #10 x 3" SCREW = Ei’é -
(TYP. TOP & F = -20 STUD WITH WINGNUT @ v L 0.C. FRONT ONLY M 2 (TYP. TOP AND WITH 10-24 THREADED JACKNUT @ 6" [INJZ|&3 2|5
BOTTOM) et | MBY ] EACH PLATE = e _/‘2 @l BOTTOM) 0.C. FRONT ONLY U3zlzeE|g
N SRS o EXISTING STRUCTURE i 3’} 1" 1 EXISTING STRUCTURE a S 1/4-20 MACHINE BOLT WITH NUT o= %-lq_-;é S
e =" ] " B - Q
Y. 16 {TYP. TOP & BOTTOM) =\ = i {TYP. TOP & BOTTOM) ?g = 1 % @ 16" O.C, MRS
_ a X ) i j G
. NI 1/4-20 MACHINE BOLT WITH NUT %\\ 5 < 2o .3
@ 31.6” 0.C. — (5 " e 2 E'\OO\OO
RE: ANCHOR SCHEDULE 2 BELOW S AN E YR @76" 0.C. t EMB A #-20 STUD £ 55335
' e 2"x2"x}" CONTINUOUS ALUM. ANGLE NN EEEY  wiTH wingNuT 5"x2"x§” CONTINUOUS ALUM. ANGLE E PR
X e WITH £-20 STUD WITH WINGNUT @ S @ EACH PLATE WITH 2-20 STUD WITH WINGNUT @ g Ezoon
n EACH PLATE \ = EACH PLATE < EMS82a
_ &g & pRaTe
@ 316" 0.C. (8) @ 316" 0.C. Lz ZEs BT
RE: ANCHOR SCHEDULE 2 BELOW RE: ANCHOR SCHEDULE 2 BELOW < 3 @EEEE
B2 o
SRR
TYPICAL CLOSED POSITION WALL MOUNT SECTION 0 TYPICAL CLOSED POSITION 2" BUILD-OUT MOUNT SECTION TYPICAL CLOSED POSITION 5" BUILD-OUT MOUNT SECTION g .
SCALE:3" = 1-0" SCALE : 3" = 1-0" SCALE:3" = 1-0" Wt 25
Q = E2
) iz
NOTE: | H
ALUMINUM PIPES (REMOYABLE) AND CAMEL T £ g:
BACK HINGE ( (119 OR ) ASSEMBLY @ g £
: 15.8" 0.C. MAXIMUM SPAUING AND @ EACH ~ s e
ﬂ JAMB. ANCHOR SCHEDULE 1 ANCHOR SCHEDULE 2
(TOP CONNECTION FOR SECTIONS A, B & C) (BOTTOM CONNECTION FOR SECTIONS A, B & C)
FOR CONC. OR BLOCK USE (2)}"® Y] MIN. EDGE| MIN B MIN. EDGE| MIN
B3 . . LY . .
ITW BUILDEX TAPCONS WITH 12" XE ANCHORTYPE  |SPACING| pistance |EmBED.| | X 2 ANCHOR TYPE QY- | DisTANCE |EMBED. _
MIN. EMBED. & 2 3" MIN. EDGE DIST. a L] ; E
OR (1) "¢ ELCO TEXTRON TAPCON w - ) } } w E—mmme ) . Yz
WITH 12" MIN. EMBED. & 2 §" MIN. m . 12" 00| 2 12 m . 4 3 12 R gaas =
EDGE DIST. FOR WOOD (G=.55) USE & 2"® ITW BUILDEX e 2"® ITW BUILDEX A
(1) 2"® LAG SCREW WITH 13" MINIMUM > > P
EMBED. & £” MIN. EDGE DIST. OR (1) o Ems 127oc| 24 13 o H - L 23" 13" “T
£"® ELCO TEXTRON FEMALE PANEL- U | "¢ ELCO TEXTRON . U | }"® ELCO TEXTRON ez
MATE WITH 13" MIN, EMBED. AND 2" S E
MIN. EDGE DIST. a e a e ol 518
= 12voc| 2v 17" | |3« 4 3" 18" c (>
£"® POP RIVETS OR #10 x 3" E G| %' I1Tw BUILDEX =G| 2"¢ITw BUILDEX AN
SCREW WITH 10-24 THREADED = O = O |8
JACKNUT @ 6" O.C. FRONT ONLY o | EI 3 I e | EI 5 i >
EXISTING—"] e 127 0C| 23" 12 1187, b 23" 12" | Approvedas complyingwith the || 3%
GLAZING T 1"® ELCO TEXTRON T 1”@ ELCO TEXTRON Florida Buidisg Cof RES
| MOLLY JACK-NUT WITH £-20 — g — Date_04 /o) /L ood i
XIS T _/ BOLT o s . . ) @ fSn . . NOA# O 103603 2
EXISTING ) 12 0c| 2 13 ) 2 2 14 Mismi Dade Product Control g
STRUCTURE <_" 1-20 x 4" BOLT WITH NUT 3 1"® LAG SCREW &3 2"® LAG SCREW D Gare
(TYP. TOP & OR@ = = By Y, »{ 10/12/2003]
BUTTOM) 8 4 8 H@jm 3 7 scale drawn by
© | {"® ELCO TEXTRON }12” 0.C. 2 18" © | {"® ELCO TEXTRON 2 z" 18" L_JAS NOTED L_Jm:n
2-20 x 13" BOLT WITH NUT 2 |FEMALE PANELMATE 2 |FEMALE PANELMATE Y
OR WINGNUT @ ‘ drawing no.

OPEN POSITION \-(1)0R(10) ® E?EPELA?@ﬁMo%UPPORT DETAILS (Sheet 2 of 3 }‘
A - T T shee o




15:14

03/15/04

Print Information: \\hurricane\ka\CADD\Cadd03\HurstAwningCo\03—206\R1—resub\03—206——03.dwg MCantu 03/15/2004 03:14:40pm

® / —%"® POP RIVETS OR
#10 x 3" SCREW WITH

10-24 THREADED JACKNUT

& @ FRONT & BACK, (TYP.

TOP AND BOTTOM)

L)TYP. ?

~-@
~®

’ BNAY NN

Al AN

<
(ONO)]
<]

\ \

\ \

N

#£"® POP RIVETS OR

#10 x 3" SCREW WITH
10-24 THREADED JACKNUT
FRONT ONLY

TYPICAL SECTION
SCALE : 3" = 7-0"

£"® POP RIVETS OR

\@&@ \\—%w POP RIVETS OR L

#10 x 3” SCREW WITH
10-24 THREADED JACKNUT
FRONT ONLY

TYPICAL SECTION
SCALE:3" = 1-0"

#£"® POP RIVETS OR

#10 x 3" SCREW WITH
10-24 THREADED JACKNUT
@ 6" 0.C. MAX. (TOP &
BOTTOM)

TYPICAL SECTION
SCALE : 3" = 1-0"

EXISTING/

GLAZING

£°® POP RIVETS OR

#10 x 3" SCREW WITH
10-24 THREADED JACKNUT
FRONT ONLY

roved as complying with the

#10 x §” SCREW WITH
10-24 THREADED JACKNUT
FRONT ONLY /
E e e - > 4 | L / \

TYPICAL SECTION
SCALE : 3" = 1-0"

TYPICAL SECTION
SCALE - 3" = 1-0"

1da Beidipg Cod )
NOAR_O’

baic ;mdnct Control

TYPICAL SECTION
SCALE : 3" = 10"

d

| K

Website: www.Knezevich.com = E-mail: KA@Knezevich.com
Copyright © 2004 Knezevich & Associates, Inc.

Product Testing

330 N. Andrews Ave., Suite 450 « Ft. Lauderdale, FL 33301

Tel. (954) 522-3690 * Fax (954) 522-3691+ COA # 3205

Knezevich & Associates, Inc

w
=
W
v
=
=}
=
%)
=}
o
=
wv
=
[}
[®)
e—
rlﬂ
<] [Ta)
o O
= ==
< 3 5583
= U.)v—-qo =)
AN E NS
g <rna9
=) © 0N <
g 550 ~m
R =S =N
T M Sne
= SO 0N
a«gl—ng‘;’o
I B 80
EeEily
< g\'g..qoﬁﬁ
Ze2EE ™
YR
@
W
& -8
os /[
g e
=} 5
< £ 8
g g
=L | 5 LE
2 z
w3 ke
=
[ e
V.J. Knezevich
Professional Epetfiger
FL License Ng 0010983
w
ez
-
23
w [T|v
ShH-
2 |32
w | |8
>
[ 4
', :;
5
@S
a3
|5
2
Bjce
13

[*'* 10/12/2003)

L drawn by
5 oreo ™" Bkn)
Y|

design by |fchecked b
VJK VJK

| 03-306 |

(sheet 3 of 3]




